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QUESTION 1

You are asked to automate storage management tasks, including provisioning, migrating, decommissioning, and cloning
storage.

Which product enables you to accomplish this task?
A. OnCommand Cloud Manager

B. OnCommand Insight

C. OnCommand Unified Manager

D. OnCommand Workflow Automation

Correct Answer: D

Reference: https://www.netapp.com/us/media/tr-4588.pdf

QUESTION 2

A customer reports that a Linux system is unable to access a required NFS export on an ONTAP SVM named
"svm01-02". This is an important server in their NIS environment and users are unable to log in. Referring to the logs,
they see several notifications of the message shown below.

"exports.netgroup.dnsNoPtrRec: IP address "192.168.1.13" does not have a reverse mapping for its corresponding
hostname in the configured name servers when evaluating the export-policy rules for netgroup "linux_1" on Vserver
"svm01- 02"."

In this scenario, what is causing the problem?

A. The export policy has the wrong netgroups defined.

B. The DNS server does not have the relevant mapping from the IP address to the hostname.

C. The ns-switch sources are set to files,dns instead of hosts,dns.

D. The netgroup definition in NIS is missing the 192.168.1.13 IP address.

Correct Answer: C

QUESTION 3

You need to restore a large number of files from a Snapshot copy and grant users read/write access to the restored
data using CIFS. For comparison reasons, you must ensure that the currently active data in the volume is preserved.

Which restore method should you use to accomplish this task?
A. Use FlexClone to clone the volume, and specify the Snapshot copy from which to clone.

B. Use SnapRestore to restore the volume, and specify the Snapshot copy from which to restore.

NS0-192 VCE Dumps | NS0-192 Exam Questions | NS0-192 Braindumps 2/5


https://www.leads4pass.com/ns0-192.html
https://www.leads4pass.com/ns0-192.html
https://www.leads4pass.com/ns0-192.html

https://lwww.leads4pass.com/ns0-192.html
2024 Latest leads4pass NS0-192 PDF and VCE dumps Download

C. Use NDMP to restore the data from the Snapshot copy back to the volume.
D. Grant users read/write access to the Snapshot copy in the snapshot folder of the CIFS share.

Correct Answer: B

QUESTION 4

A FAS8200 system fails to boot because of a corrupted image on the boot media. Which action would be performed to
solve this problem?

A. Copy the boot image from the root volume of the node.

B. Download a network image using the netboot procedure.

C. Use the boot_recovery command from the LOADER prompt.
D. Execute the boot_primary command at the loader.

Correct Answer: D

Reference: https://library.netapp.com/ecmdocs/ECMM1278407/html/sysadmin/GUID-7B9B378A-00014430-A82D-1382
E9A570C5.html

QUESTION 5

Which two conditions would prevent a normal giveback operation? (Choose two.)
A. the presence of failed disks

B. active SnapMirror transfers

C. connected NFSv3 sessions

D. the presence of a failed IOM module

Correct Answer: AB

Reference: https://library.netapp.com/ecmdocs/ECMP1210206/html/GUID-
E37EC334-C009-4A6A-82A8BE383D6D5567.html

QUESTION 6

You order a FAS8200 cluster with 4 TB SATA drives. Before executing the cluster setup command, you notice that ADP
is not being used.

In this scenario, which statement is correct?
A. Halt the nodes and configure ADP at the LOADER-X> prompt.

B. Complete the cluster setup and use OnCommand System Manager to configure ADP.
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C. While executing the cluster setup command, reconfigure the disks to use ADP.
D. Halt the nodes, boot to the special boot menu, and configure ADP.

Correct Answer: D

QUESTION 7

You are migrating volumes from an older aggregate to a new aggregate using the vol move command. You notice that,
after completion, access to these volumes is slower until a certain process finishes. Which process is causing the
problem in this scenario?

A. deswizzling

B. active bitmap rearrangement

C. snap create

D. container block reclamation

Correct Answer: D

QUESTION 8

An administrator just upgraded the controllers and wants to nondisruptively implement Advanced Drive Partitioning
(ADP) as part of the change.

Which statement is correct in this scenario?

A. ADP cannot be implemented on this system.

B. ADP can be implemented as long as all of the on-board drives do not contain data.
C. ONTAP does not support ADP.

D. ADP can be implemented, but only with a complete data-wipe and initialization.

Correct Answer: D

QUESTION 9

You are provisioning a LUN for a server running Windows Server 2016.
In this scenario, which ONTAP LUN OS type should you use?

A. hyper_v

B. windows

C. windows_2008
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D. windows_gpt
Correct Answer: B

Reference: https://thinksystem.lenovofiles.com/help/topic/san_administration_guide/M_DDA6B457-854443AC-92E8-D8
46A0BA7671_.pdf (22)

QUESTION 10

You have a vSphere Essentials Plus environment configured with NetApp LUNSs for datastores. You are backing up the
environment using the SnapCenter Plug-in for VMware vSphere. However, you are having problems performing restore
operations using SnapCenter.

What is a reason for this problem?

A. NetApp Virtual Storage Console is required for restore operations.

B. Only NFS datastores are supported with SnapCenter.

C. A Windows-based vCenter Server is required.

D. VMware Storage vMotion is not licensed.

Correct Answer: D

Reference: http://docs.netapp.com/ocsc-40/index.jsp?topic=%2Fcom.netapp.doc.ocsc-dpg-vm%2FGUID

49D66AC0-F012-4993-80BD-8F3353F80220.html
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